

Base Environmental Group, LLC. P.O. Box 458 4200 First Avenue, Suite 104 Nitro, West Virginia 25143 (304) 204-2500 (304) 204-2520 Fax

August 2, 2007

Base Env. No. 707199 PR

Mr. Chuck Bowman
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

RE: Transmittal

Proposal for West Virginia Department of Environmental Protection Annual Contract for Removal of Underground Storage Tanks Central Region

Dear Mr. Bowman:

In accordance with your Request for Quotation DEP13967 dated July 18, 2007, Base Environmental Group, LLC (Base Environmental) is pleased to submit this proposal to The West Virginia Department of Environmental Protection, Office of Environmental Remediation (WV DEP) to remove underground storage tanks and assessments at different locations in central West Virginia.

Per your RFP, Base Environmental will provide a licensed Class B tank remover on site as required. Our licensed tank remover is William Beck, License Number B-594 expired on 12/31/06 and will be renewed upon project award. Licensed Well drillers will be one of the following:

Triad Engineering WV 00061

Subsurface, Inc. WV 00157, WV 00405

Enviroprobe Integrated Solutions, Inc WV 00154

Base Environmental Group, LLC appreciates the opportunity to submit this proposal to WV DEP. We have the trained personnel, experience, and equipment resources to complete this project to your full satisfaction. If you have any questions or desire further information, please do not hesitate to contact our office. Your consideration is most appreciated.

Respectfully submitted,

William E. Beck Operations Manager

				F:EQ.P.(	 >#	~. <del>~</del>	
			BID BOND	,	3		h-dessen-
	KRIMINA) E NELEDO TER	5F 00 F0				1.20	
	of Nitro	SE PRESENTS, That we WV		d, Base Environmental			
	of Timonium	·		as Principal, and United			
MD		MD	, a corporation	n organized and existing under th	e laws of II	ne State of	·
~	with its principal o	ffice in the City ofT	LMONIUM	as Surety, are held and firm	ily bound u	nio the Sta	le
DI West VI	irginia, as Obligee, in the p	enal sum of <u>five</u> tho	ousand doll	ars(\$5,000.00)	for the payr	nent of whi	ich.
well and tr	ruly to be made, we jointly a	and severally bind ourse	lves, our heirs, a	dministrators, executors, success	ors and as	signs.	
Ti	he Condition of the above	- E.H				•	
namera man	ne Condition of the above t	obligation is such that wh	nereas the Princip	oal has submitted to the Purchas	ing Section	of the	
	2 107077 Dase 11:0p	USAI /U/199 PK	Kemoval of	ade a part hereof, to enter into a Underground Storage	Tanks a	wriling for t	
Variou	s Locations in Ce	ntral WV Accord	ing to Pla	ns and Specifications			Nemonia
							*
							***************************************
	W THEREFORE,						
(a) (b)	If said bid shall be rejecte	d, of and the Dringinal she	U!: 4				
nerelo and sh	hall lurnish any other bond.	su and ine Principal sha 5 and insurance requires	il enter into a cor	dract in accordance with the bid opposal, and shall in all other resp	or proposal	attached	
igreement cr	ealed by the acceptance o	f said bid, then this oblice	r by the old of pri Palion shall be nu	oposal, and shall in all other resp Il and void, otherwise this obligat	ecis perfori	m lhe	
orce and effe	ect. It is expressly understo	ood and agreed that the	liability of the Su	II and void, otherwise this obligat rety for any and all claims hereur	ion snail re ider shall i	Main in lull Donevent	•
recto me pe	anal amount of this obligati	on as herein stated.				THE EVELLY,	•
The S	Surely, for the value receiv	ed, hereby slipulates an	d agreet that the	obligations of said Surety and its			
	or affected by any extension of any such extension.	n of the time within which	h the Obligee mi	obligations of said Surety and its by accept such bid, and said Sure	s bond shall elv does he	ll be in no	
alve house of	any social extension.			,			
. IN MI	TNESS WHEREOF, Princi	pal and Surety have her	eunio sel Ibeir h:	ands and seals, and such of then	<b>\</b>		
ive caused th	neir corporate seals to be a	lixed hereunto and thes	od niesenie io bo	signed by their proper officers, the	1 as are co	rporations	
.7th day of	August	2n 07	e presents to be	signed by their proper officers, the	nis		
ncipal Corpor	rale Seal			Base Environmental Gr	oup II	C	
				(Name of Princip	oal)		
•			E <sub>1</sub>	11/1/4/ 5/20	SAP		
			Бу	(Musi be Preside			
				Vice President)	urot		
				C.E.O.			
•				(Title)			
rly Corporate	Seal		Ur	nited States Surety Co	ompany		
				(Name of Surety)	7	<u> </u>	
				$\Psi$	_	,	
			•	Inless al	2	1	

Gregory T. GordonAttorney in-Fact WV Resident Agent
RTANT - Surety executing bonds must be licensed in West Virginia to transact surety insurance. Corporate seals must be affixed.

### UNITED STATES SURETY COMPANY

#### Power of Attorney Number

## 61162

KNOWN ALL MEN BY THESE PRESENTS: That United States Surety Company (the "Company"), a corporation organized and existing under the laws of the State of Maryland, does hereby constitute and appoint: Patricia Ann Fincke, Gregory T. Gordon, Larry D. Kerr, Allan L. McVey, Patricia A. Moye, Kimberly J. Wilkinson

of the City of Charleston, State of West Virginia, its true and lawful Attorney(s)-in-Fact, each in their separate capacity if more than one is named above, to sign its name as surety to, and to execute, seal and acknowledge any and all bonds, undertakings, contracts and other written instruments in the nature thereof of the Company in its business of providing suretyship; guaranteeing the performance of contracts; and executing or guaranteeing bonds and undertakings required or permitted in any actions or proceedings allowed by law, subject to the following limitations:

#### No single bond shall obligate the Company in excess of the sum of Three Million Dollars (\$3,000,000).

This Power of Attorney is granted under and by authority of the following Resolutions adopted by the Board of Directors of United States Surety Company on the 29th day of July, 1996.

IN WITNESS WHEREOF, United States Surety Company has caused these presents to be signed by its proper officers, and its corporate seal to be hereunto affixed this 28th day of June, 2007. Klein, President STATE OF MARYLAND SS:

**BALTIMORE COUNTY** 

On this 28th day of June, A. D. 2007, before me personally came Richard E. Klein, President of the United States Surety Company and Child Int. New York Ch On this 28th day of June, A. D. 2007, before the personally came Robard E. Richard E. Ri

foregoing Power of Attorney.

My Commission expires the 15th day in May, 2010.

ORE COUNTING RESOLVED, that in connection with the surety insurance business of the Company, all bonds, undertakings, contracts and other instruments relating to said business may be signed, executed, and acknowledged by persons or entities appointed as Attorney(s)-in-Fact pursuant to any Power of Attorney issued in accordance with these resolutions ("Powers of Attorney"). All Powers of Attorney for and on behalf of the Company shall be executed in the name and on behalf of the Company, either by the Chair, the President, a Vice President jointly with the Secretary or an Assistant Secretary, under their respective designations. The signature of such officers may be engraved, printed or lithographed. The signatures of such officers and the seal of the Company may be also be affixed by facsimile to any Power of Attorney or to any certificate relating thereto appointing Attorney(s)-in-Fact, for purposes only of executing and attesting bonds and undertakings and other writings obligatory in the nature thereof. Subject to any limitations set forth therein and unless such Power of Attorney is subsequently revoked, any such Power of Attorney or certificate bearing such facsimile signature or facsimile seal shall be valid and binding upon the Company, and any such Power of Attorney so executed and certified by such facsimile signature and facsimile seal shall be valid and binding upon the Company with respect to any bond or undertaking to which it is validly attached.

RESOLVED, that Attorney(s)-in-Fact shall have the power and authority, subject to the terms and limitations of the Power of Attorney issued to them and unless subsequently revoked, to execute and deliver on behalf of the Company and to attach the seal of the Company to any and all bonds and undertakings, and other writings obligatory in the nature thereof, and any such instrument executed by such Attorney(s)-in-Fact shall be as binding upon the Company as if signed by the Company's Chair, the President, a Vice President, and sealed and attested to by the Corporate Secretary or an Assistant Secretary.

I, Carol T. Nevin, Assistant Secretary of United States Surety Company, do hereby certify that the foregoing is a true excerpt from the Resolution of the said Company as adopted by its Board of Directors on the 29th day of July, 1996, and that this Resolution is in full force and effect.

I, the undersigned Assistant Secretary of United States Surety Company, do hereby certify that the foregoing Power of Attorney is in full force and affect and has not been revoked.

In testimony whereof, I have hereunto set my hand and the seal of United States Surety Company on this



HZDOR

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# Request for **Quotation**

DEP13967

P/	AGE
**********	***************************************
	3

CHUCK BOWMAN 304-558-2157

6H-p +0

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B. FREIGHT TERMS

\*519142040 304-204-2500 BASE ENVIRONMENTAL GROUP LLC PO BOX 458 4200 FIRST AVE SUITE 104 NITRO WV 25143

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
ENVIRONMENTAL REMEDIATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

ADDRESS:CORRESPONDENCE:TO:ATTENTION:OF

07/18/	2007						T		
BID OPENING DATE: 08/02.		08/02/	2007			BID	OF	PENING TIME 0	L:30PM
LINE	QUAI	NTITY	UOP	CAT	ITEM	NUMBER		UNITPRICE	AMOUNT
				NO					
							Ì		
,							Ì		
								NTRACTOR FILES	
								T IS AUTOMATI-	
	CALLY	NULL A	ND VO	ID, A	ND IS T	ERMINATE	D W	WITHOUT FURTHER	
	ORDER.						-		
							İ		
								HIS CONTRACT	
	I							TERMS AND	
								CHED PRINTED	
								RMS, SALES	
	1						IN	NCLUDING ANY	
	ELECTR	ONIC M	EDIUM	SUCH	AS CD-	ROM.	j		
							_		
			AFND	OK PK	EFERENC	E CERTIF	TICA	ATE	
	CEDITE	TOATTO	N. AMD	ADDI	TCATTON	v to uco		V MADE EOD	
								Y MADE FOR INIA CODE,	
			3					CONTRACTS).	
	DA-3-3	or (Due	2 1101	AFFL	10 00	NSIKUCIII	אוט	CUNTRACTS).	
	A AD	PLICAT	TON T	C MAD	E END 2	E* DDEE!		ENCE FOR THE	
		CHECK	1	3 MMD	L FUR Z	FREFI		INCE FOR THE	
	KEAOON	OHLON							
	( )	BIDDER	TS A	N TND	TVTDIJAI	RESTDEN	T V	VENDOR AND	
			1					IA FOR FOUR	
								OF THIS	
		ICATIO					1		
	( )	BIDDER	IS A	PART	NERSHIP	, ASSOCIA	ATI	ION OR CORPORA-	
	TION R	ESIDEN	T VEN	DOR A	ND HAS	MAINTAIN	ED.	ITS HEAD-	
								CONTINUOUSLY IN	4
	i						•	ATELY PRECEDING	
							ı	OF THE OWNERSHIP	
								NDIVIDUAL,	
	PARTNE	RSHIP,	ASSO	CIATI	ON OR C	ORPORATIO	NO	RESIDENT VENDOR	₹ .
	WHO HA	S MAIN	TAINE	D ITS	HEADQU	ARTERS OF	R P	PRINCIPAL PLACE	•
	***********	33333333333333		weerse	/Epselomer	OR TERMS AND CO	DAUNITA DA	Trakie	
SIGNATURE				OCE NE	venoe olue PC	TELEPHONE	ANIAL I	HONS DATE	
TITLE		FI	EIN					ADDRESS CHANGES	TO BE NOTED ABOVE



\*519142040

PO BOX 458

NITRO WV 25143

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

BASE ENVIRONMENTAL GROUP LLC

4200 FIRST AVE SUITE 104

304-204-2500

# Request for Quotation

DEP13967

....PAGE

CHUCK BOWMAN 304-558-2157

8H-P +0

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
ENVIRONMENTAL REMEDIATION
601 57TH STREET SE
CHARLESTON, WV

\*ADDRESS:CORRESPONDENCE TO ATTENTION OF

DATE PRINTED TERMS OF SALE SHIP VIA F.O.B FREIGHT TERMS
07/18/2007

BID OPENING DATE:	08/02/2007	BID OF	PENING TIME O	L:30PM
LINE	QUANTITY UOP CAT.	ITEM:NUMBER	UNITPRICE	AMOUNT
	OF BUSINESS CONTINUOUS	LY IN WEST VIRGINI	IA FOR FOUR (4)	
	YEARS IMMEDIATELY PREC			
	CERTIFICATION; OR			
i		ORATION NONRESIDEN		
	WHICH HAS AN AFFILIATE			
	A MINIMUM OF ONE HUNDR			
	HAS MAINTAINED ITS HEA BUSINESS WITHIN WEST V	QUARIERS OR PRINCI	LPAL PLACE OF	
	FOUR (4) YEARS IMMEDIA	TELV DECEDING THE	SLY FUK THE	
	CERTIFICATION.	ILLY PRECEDING THE	DATE OF INTS	
	DERVIT TOATTON.			
	B. APPLICATION IS MAD	E FOR 2.5% PREFERE	ENCE FOR THE	
	REASON CHECKED:			
		DENT VENDOR WHO CE		
	DURING THE LIFE OF THE			
	75% OF THE EMPLOYEES W			
	ARE RESIDENTS OF WEST			
	THE STATE CONTINUOUSLY PRECEDING SUBMISSION O		SIMMEDIALELY	
	OR	L IUI2 PID;		
1	i I I	ESIDENT VENDOR EMP	PINYTHE A	
l i	MINIMUM OF ONE HUNDRED			
	NONRESIDENT VENDOR WIT			
	WHICH MAINTAINS ITS HE			
	OF BUSINESS WITHIN WES	T VIRGINIA EMPLOYI	ING A MINIMUM	
	OF ONE HUNDRED STATE R			
	DURING THE LIFE OF THE	CONTRACT, ON AVER	RAGE AT LEAST	
	75% OF THE EMPLOYEES O			
	SUBSIDIARY'S EMPLOYEES WHO HAVE RESIDED IN TH			
	YEARS IMMEDIATELY PREC	EDING SUBMISSION O	SET FUR THE IWU	
	THE PREC	FRIME SOURTSSION O	" IIITO DID.	
	BIDDER UNDERSTANDS IF	THE SECRETARY OF T	TAX & REVENUE	
	DETERMINES THAT A BIDD			
		VERSE SIDE FOR TERMS AND CONDIT	Physiological Company of the Company	
SIGNATURE	SEE HE	TELEPHONE	HONS:	
Tivi P				
TITLE	FEIN		ADDRESS CHANGES	TO BE NOTED ABOVE



NUCCHA

DATE PRINTED

\*519142040

PO BOX 458

NITRO WV 25143

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

TERMS OF SALE

BASE ENVIRONMENTAL GROUP LLC

4200 FIRST AVE SUITE 104

304-204-2500

### Request for **B** Quotation

RFQ NUMBER **DEP13967**  5

FREIGHT TERMS

ADDRESS:CORRESPONDENCE TO ATTENTION OF CHUCK BOWMAN 304-558-2157

SH-P

SHIP VIA

**ENVIRONMENTAL PROTECTION** DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

FOB.

07/18/							
BID OPENING DATE:		08/02/	2007		BID	OPENING TIME	01:30PM
LINE	QUAN	VTITY	UOP	CAT	ITEM NUMBER	UNIT PRICE	AMOUNT
				NO.			
,							
					MEET THE REQUIRE		1
	PREFER	ENCE,	THE S	ECRET	ARY MAY ORDER TH	E DIRECTOR OF	
					SCIND THE CONTRA		<b>.</b>
					SSESS A PENALTY		
					T TO EXCEED 5% 0		
	AND TH	AT SUC	H PEN	ALTY	WILL BE PAID TO	THE CONTRACTIN	IG
	AGENCY	OR DE	DUCTE	D FRO	M ANY UNPAID BAL	ANCE ON THE	
	CONTRA						
	BY SUB	MISSIO	N OF	THIS	CERTIFICATE, BID	DER AGREES TO	
	DISCLO	SE ANY	REAS	ONABL	Y REQUESTED INFO	RMATION TO THE	
					D AUTHORIZES THE		
	TAX AN	D REVE	NUE T	O DIS	CLOSE TO THE DIR	ECTOR OF	
	PURCHA	SING A	PPROP	RIATE	INFORMATION VER	IFYING THAT	
					QUIRED BUSINESS		i <b>D</b>
					DOES NOT CONTAIN		
	TAXES	PAID N	OR AN	Y OTH	ER INFORMATION D		
					FIDENTIAL.		
					OR FALSE SWEARIN		IIA
					EREBY CERTIFIES		
					D ACCURATE IN AL		I <b>D</b>
					ISSUED TO BIDDER		
					CERTIFICATE CHAN		
					BIDDER WILL NOTI		
					WRITING IMMEDIA		
					Daga Forder	LI Com	167
ļ			: 	BIDDE	R: Base silving	nmental 191007	
	İ		j l		R: Base Environ		<b>'</b>
					2/1/2	,	
			, <u> </u>	DATE:	\ <u>\</u> \		
					1/4/0	/	
					1.1/11.56.	\	
			l	SIGNE	n: - ////// ////////////////////////////	M	
}			. [		p: - Whs 2 Du		
				SEEREV	VERSE SIDE FOR TERMS AND COI		
SIGNATURE					TELEPHONE	I	DATE
TITLE		FE	in		<u> </u>	ADDDESS CHAI	NOTO TO DE NOTED ABOVE
		1				ADDRESS CHAI	NGES TO BE NOTED ABOVE



SIGNATURE

TITLE

\*519142040

PO BOX 458

NITRO WV

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

BASE ENVIRONMENTAL GROUP LLC

FEIN

4200 FIRST AVE SUITE 104

25143

304-204-2500

## Request for Quotation

DEP13967

Address: Correspondence to attention of CHUCK BOWMAN

304-558-2157

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION 601 57TH STREET SE** CHARLESTON, WV 25304 304-926-0499

DATE PRINTED TERMS OF SALE SHIP VIA FOB. FREIGHTTERMS 07/18/2007 **BID OPENING DATE:** 08/02/2007 BID OPENING TIME 01:30PM CAT LINE QUANTITY UOP ITEM NUMBER UNIT PRICE AMOUNT \* CHECK ANY COMBINATION OF PREFERENCE CONSIDERATION(S) IN EITHER "A|" OR |"B", |OR BOTH "A" AND |"B" WHICH YOU ARE ENTITLED TO RECEIVE. YOU MAY REQUEST UP TO THE MAXIMUM 5% PREFERENCE FOR BOTH "A" AND "B". (REV. 12/00) NOTICE AN ORIGINAL, SIGNED BID MUST BE SUBMITTED TO: DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130 THE BID MUST CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED: SEALED BID BUYER: CB-23 RFQ. NO.: DEP13967 BID OPENING DATE: 08/02/2007 BID OPENING TIME: 1:30 PM

SEE REVERSE SIDE FOR TERMS AND CONDITIONS

TELEPHONE

DATE

ADDRESS CHANGES TO BE NOTED ABOVE



DATE PRINTED

\*519142040

PO BOX 458

NITRO WV 25143

State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

TERMS OF SALE

BASE ENVIRONMENTAL GROUP LLC

4200 FIRST AVE SUITE 104

304-204-2500

## Request for Quotation

DEP13967

FREIGHTTERMS

ADDRESS:CORRESPONDENCE:TO:ATTENTION:OF CHUCK BOWMAN 304-558-2157

SHIP VIA

**ENVIRONMENTAL PROTECTION** DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

F.O.B.

07/18/										
BID OPENING DATE:	100000000000000000000000000000000000000	<u>08/02/</u>		100000000000000000000000000000000000000	lancour and a second and a second and a second and a second and a second and a second and a second and a second	BID	OPEN	NING TIME	01	:30PM
LINE	QUAN	TITY	UOP	CAT NO:	ITEMN	UMBER		UNIT PRICE		AMOUNT
	PLEASE TO CON	PROVI TACT Y	DE A	FAX N GARDI	umber in ng your 1-204-	BID:		NECESSARY		
;	CONTAC:	T PERS	ON (P		PRINT C	LEARLY):				
	****	THIS	IS T	HE EN	D OF RFQ	DEP13	967	***** TOT	AL:	236,660
					i j					
					•					
,										
		i								
	I			1						
		ļ						•		
BIGNATURE				SEE REV	ERSE SIDE FOR	TERMS AND CON	IDITIONS		DATE	
ITLE		FE	EIN					ADDRESS CHAI	NGES	TO BE NOTED ABOVE

# STATE OF WEST VIRGINIA Purchasing Division

## PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

#### **DEFINITIONS:**

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

**EXCEPTION:** The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

**LICENSING:** Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

**CONFIDENTIALITY:** The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit **www.state.wv.us/admin/purchase/privacy** for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	Base Environmental	Group LLC		
Authorized Signature:	Willes & Buch	Oate:	8/6/07	
Mathorizod Orginalaror	- W - E			

Purchasing Affidavit (Revised 04/15/07)

WV-36a STATE OF WEST VIRGINIA

### **PURCHASING CONTINUATION SHEET**

# Buyer: Page Company Req/PO CB-23 DEP13967 Spending Unit: WVDEP/DLR/OER

#### **UST Removal -- Central WV**

Item No.	Quantity	Description	Unit Price	Amount
1	6,000	Removal and proper disposal of petroleum contaminated water, rinsate and/or product. (per gallon)	0.47	2,820
2	500	Transportation of petroleum contaminated water, rinsate and/or product to disposal facility (per mile)	2.50	1,250
3	12	Purge vapors from UST to <10% LEL. (per tank)	125	1,500
4	12	Excavate and extract UST / piping from the ground. (per 1000 gallon tank volume)	880	10,560
5	12	Cut openings in UST and clean sludges from them. (per tank)	350	4,200
6	12	Dispose / scrap cleaned UST.  (per tank)	150	1,800
7	12	Disposal of tank-cleaning sludges. (per drum)	350	4,200
8	300	Segregate obviously contaminated vs. non- contaminated soils and stockpile contaminated soils/debris on-site on 6 mil black plastic and cover with 6 mil black plastic. (per ton)	6.50	1,950
9	300	Disposal of petroleum-contaminated soil at a state approved landfill Meadowfill Unit price includes landfill tipping fees and etc. (per ton)	82.00	24,600
10	300	Petroleum Contaminated Soil Treatment at an Incineration or Bioremediation Facility. Non Haz at Clean Earth Unit price includes tipping fees and etc. (per ton)	72.00	21,600
11	100	Proper disposal of nonhazardous materials such as broken concrete slabs, piping & etc. (per ton)	75.00	7,500
12	100	Backfill excavations with crusher run. (per ton)	23.00	2,300
13	12	Mobilization and demobilization. (lump sum per site)	900	10,800
14	500	Asphalt disturbed excavation area. (per sq. ft)	5.50	2,750
15	100	Concrete disturbed excavation area (per cu. yd.)	150	15,000
16	500	Cutting and removal of asphalt or concrete (per sq. ft)	2.00	1,000
17	5	Fill UST with concrete slurry (per 1000 gallon tank volume)	750	3,750

Cer	tral			
- 18	5	Fill UST with inert foam material (per 1000 gallons tank volume)	760	3,800
19	12	Direct Push Equipment (per day)	1,265	15,180
20	500	Direct Push Temporary Groundwater Sampler (per linear foot)	2.75	1, 375
21	500	Direct Push Prepack well screen 1.4 inches OD (per linear foot)	25.∞	12,500
22	500	Direct Push Prepack well screen 2.5 inches OD (per linear foot)	29.00	14,500
23	12	Low Flow Sampling Equipment (per day)	600	7, 200
24	500	Well Abandonment-2 inch wells (per linear foot)	6.00	3,000
25	500	Well Abandonment-4 inch wells (per linear foot)	8.00	4,000
26	500	Borehole (and Corehole) abandonment (per linear foot)	4.00	2,000
27	10	IDW Disposal (per drum)	150.00	1,500
28	25	Dot 17-C Drums (each)	45.00	1, 125
29	100	Laborer (per hour)	44.00	4,400
30	10	Enhanced Fluid Recovery (EFR) (per day)	850	8,500
31	12	Complete Reports ans Submittal (each)	400	4,800
32	200	Hollow Stem Auger for 2 inch well (per linear ft.)	1,000 rig mobe 20.00	5,000
33	200	Hollow Stem Auger for 4 inch well (per linear ft.)	1,000 rig mabe	6,000
34	200	Installation of 2 inch monitoring well (per linear ft.)	29.00	5,800
35	200	Installation of 4 inch monitoring well (per linear ft.)	36.00	7,200
36	10	Backhoe Loader Cat 416 type or equivalent (per day)	500	5,000
37	200	Reclaim disturbed areas (per sq ft.)	8.00	1,600
38	100	Oxygen Releasing Compound Advanced Powder or equivalent (per lb.)	15,00	1,500

•	١	₩.	-3
	ä	4	Real Property
	-		

. 39	100	Reactivated Carbon (per lb.)	8.00	800
40	100	Spent Carbon Disposal (per lb.)	10.00	1,000
41	10	Combustible Gas/Oxygen Meter (per day)	55.00	550.00
42	10	Organic Vapor Analyzer (PID) (per day)	75.00	750.00

TOTAL =

236,660

3100

Inquires concerning this RFQ shall be directed to:

Chuck Bowman
Purchasing Division
Building 15
2019 Washington Street, East
Charleston, WV 25305

(304) 558-2157 - Phone (304) 558-4115 - Fax